UGS
[. HEHmRREER (4 F5K)

(HA7 2 1)
AT @ RETA | er psrte ) | psefb fon sl
B L | RHEERORS | e S e O
N F
%Z%% A
i, & s T
1 ki A 7 KK E L E RINFS 4,400, 000| 4, 400, 000 4 664 000
[T 7 i
A

MFZ) FER U EOREELEI G CERD 5 = &,
. FEEHMmER (B4 %)

T P 4 AT FE DL TR
NS i ER L2 A4% D B A
1&@@@Xﬁ%ﬁ@ﬁ%%/ﬁm%&%1$
ERIEN
AT T L NI BN B FEE L [ RN
RN R i o | R R K5k i N

R L BT A () Tl B4/ AL, ZFIC L 0 IEEOMEENE] S, FhET
g%%m@ofﬁb\ﬁ%%m%%%ﬁ%ﬁ%ﬁ%%tﬁﬁ<&5:&%%?éhiﬁ
et e CEF TRICE VRO RER I A ORE % RUET RN B B T, HEEE O
RIVBFROME oy EsIE s s £

Jiti THER: 14. Tm




RN I BEFR

AN BILR T 0 ERBOR - iR

RN EBFEFE REAGE CFRk2 743 A~)
R TR & N T

: 8 ' 528 Rt
Sl B33 HAT. B0LLTHELEBARESS
Lz o F1H B RZHE_ED LA S I 2D O
& - FEUEOR BT, EUIRERKEOEEICIRS ZEOHKRL2NWEDOTHD
7o, Bl & B2 3m L, FROZ2M - FEMEO R L2 #E L £,
FAZ . FTEEORBEECLY ., RO - FEEDm 2K Y £97,
B AR SRAEE| FEKT (P F£E | SN 4 FRE
FEMTOZREFR |[FEEEHTcE T 2 EROZANE - IO L2 R 5 I0E, Bs el TAAGER 720, MEEREN TOHIM 4R E L.
PR EE | AR BN | R 0 4
e | e s | BORFEAT | % 100
Dgen ety | JIUER B H A % 100
DR BIER X100 [ SERRE | % 100. 0%
SEAAE S D% B
FEAEFEDPDCAY A J NI K D FEUGELZX DO, FEEMZICEHMIT 57290,
A A FE O TEMER 22 R M ORI &
VHEEOIER R AL, RFICHEL TR, THEROZE2M - FIEMOm E2 H
RATAFEORIH (B FHhi L 7=,
B N OV S S T OB DKL, W2 S ik b ORKPEKEREL AL TWVWDH Z &

5. FMIZE D EEOREESH] S CORNVE CTIREBIZZ2 > TV, ZHICE Y, K
I R 2R BE KBS RE 2 - B e K A B Z L M S . IEBE O BRFITHAKZE D E )N
M ST ENBE I LTV,

WHIC LA KBEfHIZC L - T, YK BIT L 0 R 28KkEgELZ R L, ITHRF
~OFSNCIRT D Z LN TE, FRUHEOERIC LY | AR O RIS FHE NI
WL TWD ZRT, WLDLTELELIEERESD ] OftELZND Z LN TE T,




ngﬁﬁc:,f%\éﬁz%‘ﬁ%%%@/ﬁm DA K

Al
g » Rty = HAL| SF 28] SF 3R SN A4 FEE
A4 F DO IRE S L R EST E I 15.8 10.0 14.7
18 R OVE B 32 %jﬁm%&ﬁi%é% HE A | m 15.8 10. 0 14.7
i ERSE | P 100. 0% 100. 0% 100. 0%
TS A A NE T N
fo PRI A 2 4R A 3 A 4 i %
o 6, 648, 200 4,953, 300 4,664, 000
AT 75 G A 4, 400, 000 4, 400, 000 4, 400, 000
I 53RN 4
2 BRI PEER 4
AT FE DK O
90 HH LHID J5 1 IO FE T A%
I T 154 5t AL #H &0 Rkt 4, 664, 000
ST A SR E D R PEE LR
AT HE DR = Hh ke BOR R




